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Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Choose the most appropriate synonym for the underlined word in the given sentence.
The king's prodigious appetite often left the entire kitchen empty.

normal

tiny

enormous

moderate

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:

Ending hunger entails ending chronic undernourishment. Undernourishment occurs when "a person is unable to acquire
enough food to meet daily minimum dietary energy requirements for one year". It is a serious condition that can lead
to stunting, other long-term effects on health, and diminished educational attainment.

Which of these is NOT an effect of undernourishment?

Stunting

Diminished educational attainment

Long-term effects on health

Inability to meet minimum dietary requirements

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:

Ending hunger entails ending chronic undernourishment. Undernourishment occurs when "a person is unable to acquire
enough food to meet daily minimum dietary energy requirements for one year". It is a serious condition that can lead
to stunting, other long-term effects on health, and diminished educational attainment.

Which of the following can be logically inferred from the above information?

Hunger cannot be ended without ending undernourishment.

Low educational attainment leads to undernourishment.

Stunting is the inability to meet dietary energy requirements.

People need to be educated about the problem of hunger.

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:

Ending hunger entails ending chronic undernourishment. Undernourishment occurs when "a person is unable to acquire
enough food to meet daily minimum dietary energy requirements for one year". It is a serious condition that can lead
to stunting, other long-term effects on health, and diminished educational attainment.

Which word from the above paragraph means the same as 'persisting for a long time or constantly recurring'?

Entails

Chronic

Stunting

Diminished

Q.No: 5 Choose the correct part of speech for the underlined word in the sentence.
The actress delivered an emotional monologue in the film.

Adverb

Verb

Adjective

Noun

Q.No: 6 Choose the correct word for "A person who designs and creates clothing":

Fashionista

Tailor

Designer

Seamstress

Q.No: 7 What is the future tense of the verb "to eat"?

will eat

eating

eats

ate

Q.No: 8 Arrange the following jumbled words into a coherent order:

A. Clock

B. Loudly

C. In

D. The

E. Ticks

F. The

G. Silence

A-B-C-D-E-F-G

C-D-G-F-B-A-E

A-C-D-G-B-E

F-A-E-B-C-D-G

Q.No: 9 Which punctuation mark is used to show strong emotion?

Colon

Period

Exclamation mark

Semicolon

Q.No: 10 Choose the correct option that completes the sentence logically and grammatically:
My sister is good ________ playing the guitar.

at

with

for

on

Q.No: 11 What does the word "arduous" mean?

Manageable

Simple

Difficult

Easy

Not Answered

Q.No: 12 Choose the correct option that completes the sentence logically and grammatically:
He is good ___________ mathematics.

with

at

on

to

Q.No: 13 Choose the correct article in English grammar that completes the sentence:
I want to visit ______ Vishweshwaraiah museum tomorrow.

a

the

an

No Article Required

Q.No: 14 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative suggested,
select the one which best expresses the same sentence in Passive/Active Voice.
We must respect the elders.

The elders must be respected by all.

The elders must be respected.

Respect the elders we must.

The elders deserve respect from us.

Q.No: 15 Choose the correct plural of "child":

childs

children

child

childes

Q.No: 16 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
We are ready for the trip, ________?

doesn't it

aren't we

isn't it

does it

Q.No: 17 The chef is preparing a delicious meal. Convert the sentence to passive voice.

A delicious meal is being prepared by the chef.

The chef preparing a delicious meal.

The chef prepares a delicious meal.

A delicious meal is preparing by the chef.

Q.No: 18 Choose the correct part of speech for the underlined word in the sentence.
I like old houses.

Adjective

Adverb

Verb

Noun

Q.No: 19 Choose the correct meaning of the idiom or phrase underlined in the sentence:
The student had butterflies in his stomach before the exam.

Ate butterflies

Was nervous

Studied about butterflies

Was hungry

Q.No: 20 Choose the option to correctly complete the sentence in the past perfect tense:
The train __________ when I reached the station.

arriving

will arrive

had arrived

was arriving

Q.No: 21 Choose the correct meaning of "iconoclast":

Traditionalist

Conformist

Rebel

Revolutionary

Not Answered

Q.No: 22 Which sentence is correctly punctuated?

Where, are you going?

Where are you:going?

Where are you going?

Where are, you going?

Q.No: 23 Choose the correct part of speech for the underlined word in the sentence.
He is a talented artist.

Noun

Adjective

Verb

Adverb

Q.No: 24 Fill in the blank with the correctly spelled word:
The _______ of the city skyline was etched against the fiery sunset.

silhoette

silhouete

silenhouette

silhouette

Not Answered

Q.No: 25 Choose the antonym for "Ephemeral"?

Transient

Momentary

Fleeting

Permanent

Not Answered

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Not Answered

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51

Q.No: 52 What percent of 300 is 75?

Q.No: 53 A man on tour travels first 180 km at
60 km/hr and the next 160 km at 80
km/hr. The average speed for the
entire tour is :

40 km/hr 40 km/hr

68 km/hr 68 km/hr

60 km/hr 60 km/hr

50 km/hr 50 km/hr

Q.No: 54 The ratio of Rishi's present age to his
brother's present age is 5:4. If the sum of
their ages is 63, what is Rishi's present age?

32 years

21 years

28 years

35 years

Q.No: 55

Q.No: 56 Punit is 27 years old, his brother is half
of Punit's age. What is his brother's
age?

13.5 Years

12.5 Years

14.5 Years

15.5Years

Q.No: 57
A shopkeeper sells a backpack at a loss of 10%. If the
cost price is Rs.1800, what is the selling price?

Q.No: 58
If the cost price of an article is Rs.120 and the
selling price is Rs.90, what is the loss percentage?

Q.No: 59

Q.No: 60

Q.No: 61
Person A incurs a loss of 20% by selling an article
for Rs.5000. At what price should the article be sold
to earn a 30% profit?

Not Answered

Q.No: 62 If the principal amount is Rs.10,000 the
rate of interest is 10% per annum, and the
time period is 2 years, Find the simple
interest?
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Q.No: 63 A ratio equivalent to 7:9 is _______.

Q.No: 64 The ratio of 60 seconds to 1 hour 45 minutes is _____.

Q.No: 65
If a letter is chosen at random from the word
"MATHEMATICS," what is the probability that it is 'M'?

Q.No: 66 A alone can do a piece of work in 6
days and B alone in 8 days. A and B
undertook to do it for Rs.3200. With
the help of C, they completed the
work in 3 days. How much is to be
paid to C?

Not Answered

Q.No: 67
The average of two numbers is 75. If one number
is 90, what is the other number?

Q.No: 68 What is the Highest Common Factor (HCF) of 35 and
56?

Q.No: 69

The average weight of a group of seven people is 75
kg. If one person with a weight of 85 kg is replaced by
another person with a weight of 64 kg, what is the
new average weight?

Q.No: 70 At what speed will a train travel to
cover 240 kms in 3 hours?

80 kmph 80 kmph

120 kmph 120 kmph

100 kmph 100 kmph

60 kmph 60 kmph

Q.No: 71
If you randomly choose a day of the week, what is
the probability that it is a Saturday?

Q.No: 72 If 10 workers can build a wall in 24
days, how many days will it take for 15
workers to build the same wall?

15 days

20 days

8 days

16 days

Q.No: 73
Vikram invests Rs.100,000 in scheme for 2 years at
10% interest compounded annually. At the completion
of scheme he gets the total amount of ?

Q.No: 74 What percent of 7 kilograms is 840 grams?

Q.No: 75 Find the Least Common Multiple (LCM) of 3 and 12 ?

Section - IV (General Knowledge)

Q.No: 76 Udayagiri, Ratnagiri, Lalitgiri are together known as?

Golden capital

Golden quadrilateral

Golden triangle

Diamond triangle

Q.No: 77 Which of the following is NOT a communicable disease?

Pertussis

Rabies

Epilepsy

Shigellosis

Q.No: 78 Thomas Cup is related to which sport?

Badminton (Men)

Volley ball (Men)

Field Hockey (Men)

Cricket (Men)

Q.No: 79 Devichandraguptam is a play written by:

Ajathashatru

Megasthenes

Chanakya

Vishakhadatta

Q.No: 80 Who was the founder of Sankhya philosophy?

Gautama

Vyasa

Kapila

Patanjali

Q.No: 81 Which is the largest river without a delta in India?

Narmada

Godavari

Krishna

Mahanadi

Q.No: 82 Which direction is indicated by the thumb in
Fleming's left-hand rule?

Charge

Motion of conductor

Magnetic field

Current

Q.No: 83 Manganiyars can be found in which of the following
states?

Rajasthan

Tamil Nadu

Kerala

Jammu Kashmir

Not Answered

Q.No: 84 Vivad se vishwas scheme comes under which Ministry?

Ministry of Home Affairs

Ministry of Housing and Urban Affairs

Ministry of Finance

Ministry of Forest and Climate Change

Q.No: 85
The International Criminal Police Organisation
(INTERPOL) has its headquarters at:

France

Vienna

Germany

London

Not Answered

Q.No: 86
Which one of these is NOT an abiotic component?

Plants

Minerals

Rainfall

Temperature

Q.No: 87
Which cricket legend has been appointed by ICC as
the global ambassador of ODI World Cup 2023?

Yuvaraj Singh

Sachin Tendulkar

Suresh Raina

Mahendra Singh Dhoni

Q.No: 88 International Girl Child day is celebrated on _______.

March 15

January 24

October 11

December 11

Q.No: 89 Which isotope is used for the treatment of Goitre?

Iodine

Cobalt

Radium

Uranium

Q.No: 90 IBRD (International Bank for Reconstruction
and Development) is known as:

International Monetary Fund

Reserve Bank

The Swiss Bank

World Bank

Q.No: 91 In an apple tree, the internal energy reserve consists
largely of:

Fats

Nitrogen

Glycogen

Starch

Q.No: 92 We can find the Bandipur National Park in _________.

Karnataka

Andhra Pradesh

Tamil Nadu

Kerala

Q.No: 93 R21/Matrix-M' which was recently in news is related to:

Black hole

Malware

Endangered species

Vaccine

Q.No: 94 Which of the following country is not a member of G-7?

Canada

India

Japan

France

Not Answered

Q.No: 95 Bharat Ratna award was instituted in the year
________.

Q.No: 96 The first Anglo-Mysore battle was ended by the
signing of which treaty?

Treaty of Madras

Treaty of Nanjangud

Treaty of Srirangapatinam

Treaty of Mangalore

Not Answered

Q.No: 97
As of 31 December 2022, India's share in
ADB is 6.3%.What does ADB stand for?

Arctic Development Bank

Australian Development Bank

Asian Development Bank

Antarctica Development Bank

Q.No: 98 State Governors are appointed by :

The Parliament

The Prime Minister

The President

The Vice President

Q.No: 99 Which is the largest country
through which the equator
passes?

India

Sri Lanka

China

Brazil

Not Answered

Q.No: 100 When was the Pradhan Mantri Sukanya Samriddhi
Yojana launched?

Section - V (Computer Knowledge)

Q.No: 101 _______ are used in denial of
service attacks, typically
against targeted web sites.

Trojan horse

Patch

Zombie

Worm

Q.No: 102 The function used to count the
number of cells that contain numbers
in Excel is:

COUNT  (COUNT)

MAX  (MAX)

ADD  (ADD)

TOTAL  (TOTAL)

Q.No: 103 An internet service that allows the user
to move a file is:

HDMI  (HDMI)

SMTP  (SMTP)

FTP  (FTP)

POP  (POP)

Q.No: 104 A client of the DNS (Domain Name
System) application is called
_________.

DNS handler

DNS name

DNS resolver

DNS server

Q.No: 105 _______ printers makes more noise while printing.

DVI

Laser

Non-impact

Impact

Q.No: 106 What is the default port number of POP?

67 67

110 110

95 95

125 125

Not Answered

Q.No: 107 Which of the following tab is not present in the
PowerPoint ribbon?

Format tab

Insert tab

Design tab

Home tab

Q.No: 108 The number of functional layers in SONET are:

Not Answered

Q.No: 109 In CIA triad, what does I stand for?

Informative

Integrity

Internet

Interconnection

Not Answered

Q.No: 110 IPX/SPX used for:

Unix

Windows

Linux

LAN

Not Answered

Q.No: 111 When you start MS-Word, the opening
document has the name as :

Workbook

Document

Document1

DOC 1

Q.No: 112 What is the maximum data transfer rate of the ISDN?

Not Answered

Q.No: 113 Which of the options given below is/was an operating
system?

Photoshop

Mozilla Firefox

BlackBerry OS

Opera

Q.No: 114 In HTTPS ,'S' is stands for :

Secure

Simple

Signal

Server

Q.No: 115
The program in execution is known as ________.

Process

Programming

Execution

Procedure

Q.No: 116 The shortcut key F2 in excel is used to:

Go to a specific cell

Edit the selected cell

Check the spellings

Create chart

Q.No: 117 The
operating
system
allows the
user to
organize
the
computer's
contents in
a
hierarchical
structure
of
directories
that
include all
of the
following
except:

Files

Drives

System

Folders

Q.No: 118 Identify the shortcut key used for Selecting
all contents of the page:

Q.No: 119 To send a received mail to someone else click
________.

Forward

Reply

Reply all

Send

Q.No: 120 Web pages are saved in which of the following
format?

DOC

URL

HTML

HTTP

Q.No: 121 Which of the following
protocol is used to
download e-mails from
the e-mail servers?

FTP

DNS

POP3

PUSH

Q.No: 122 What is the decimal equivalent of the binary number
10111?

27

25

23



23

29

Q.No: 123 The primary job of the operating system is:

Manage Commands

Manage Users

Provide Utilities

Manage Resources

Q.No: 124 1024 KB is equal to?

Q.No: 125
Identify the symbol which represents input/output:

Section - VI (General Science)

Q.No: 126
What is the chemical formula of acetic acid?

CH2COH CH2COH

CH3COH CH3COH

CH2COOH CH2COOH

CH3COOH CH3COOH

Q.No: 127 Which of the following is an example of a cold-
blooded animal?

Man

Cow

Lizard

Dog

Q.No: 128 Humans and mammals mostly
reproduce through:

Fragmentation

External fertilization

Budding

Internal fertilization

Q.No: 129 Which of the following elements is an
example of a metalloid?

Si Si

S S

Cl Cl

Na Na

Q.No: 130 Which of the following properties is NOT characteristic
of liquids?

High compressibility

Ability to flow

Definite shape

Definite volume

Q.No: 131 How many permanent teeth do adult humans have?

28

16

32

40

Q.No: 132 Which of the following elements is a
metal with a relatively low density?

Iron

Lead

Lithium

Gold

Q.No: 133 Which of the following is a non-renewable source
of energy?

Hydel Power

Solar Power

Fossil Fuels

Wind Power

Q.No: 134 Which one of the following is a not a secondary
pollutant?

Carbon dioxide

Ozone

Peroxyacetyl nitrates

Nitrogen dioxide

Q.No: 135 A circuit has a resistance of 8Ω. If a
voltage of 24V is applied across it, what is
the current flowing through the circuit?

1.5A 1.5A

0.33A 0.33A

3A 3A

2A 2A

Q.No: 136 Which is the molecule containing three
atoms of oxygen, found in the upper
reaches of the atmosphere

Ozone

Oxygen

Nitrogen

Carbon monoxide

Q.No: 137 What hormone is commonly used in animals,
including humans, to prepare the body for a
response to a scary situation?

Insulin

Dopamine

Adrenaline

Estrogen

Q.No: 138 Which of the following is a consequence of
deforestation?

Increased rainfall

Soil erosion

Enhanced biodiversity

Reduced greenhouse gas emissions

Q.No: 139 The ability of a material to be stretched,
pulled, or drawn into a thin wire indicates
which property?

Lustre

Ductility

Brittle

Malleability

Q.No: 140 Which one of the following shows the correct
relationship in terms of reactivity?

Hg > Mg > Cu Hg > Mg > Cu

Mg > Hg > Cu Mg > Hg > Cu

Mg > Cu > Hg Mg > Cu > Hg

Cu > Hg > Mg Cu > Hg > Mg

Not Answered

Q.No: 141 Sodium hydroxide is a

strong base

weak base

weak acid

strong acid

Q.No: 142 What type of heart structure does Crocodiles have?

1 chambers

3 chambers

4 chambers

2 chambers

Q.No: 143 Which part of a flower produces pollen (the male
gametes)?

Stigma

Sepal

Anther

Petal

Q.No: 144
Which of the following devices is used to
measure electric current in a circuit?

Ammeter

Voltmeter

Galvanometer

Ohmmeter

Q.No: 145 What is the main factor for the water to
pass through the xylem throughout the
day when the stomata are open?

Transpiration pull

Pulling on leaves

Uptake of active ions

Water evaporating from roots

Q.No: 146
Generator is used for _______.

pumping water to the tank

uninterruptible power supply

generating electricity

stabilising current flow to any device

Q.No: 147 Which of the following is an example of a
non-point source of water pollution?

Agricultural runoff

Thermal power plants

Factory discharge

Sewage treatment plant

Q.No: 148
Flagella in bacteria enable them to:

Reproduce

Locomote

Digest food

Respiration

Q.No: 149 Antibiotic resistance in bacteria is an example of
how:

The environment directly influences genes

Acquired characteristics can be inherited

Organisms can overcome natural selection

Mutations can provide a selective advantage

Q.No: 150 A person with chronic diarrhea
experiences dehydration and electrolyte
imbalance. Which excretory organ is
primarily responsible for this problem?

Intestine

Kidney

Skin

Liver


